Int

please enter 2 int values: 2 5 please enter 2 int values: 25 28 please enter 2 int values: -12 15 please enter 2 int walues: 12 -2

3+c o7 28 + 38 = 58 -12 + 15 = 3 182 + -2 = 16

3 _ 5 _ 3 2 - 38 = -18 -12 - 15 = -27 18 - -2 = 28

2 %5 =18 28 * 38 = cbd -12 * 15 = -13@ 18 * -2 = -36

2/5=28 2 /=08 -12 /15 =@ 18 / -2 = -9

s%c_o 8 % 38 = 28 -12 % 15 = -12 18 % -2=9

7 4¢ 5 - g4 28 << 38 = @ -12 <« 15 = -3893216 18 << -2 = -2147433643

2335 =g 28 »» 38 =@ -12 »» 15 = -1 18 »» -2 = @

sBEc_p 8 & 38 = 28 -12 & 15 = 4 18 & -2 = 18

2|5=7 22| 38 =38 -12 | 15 = -1 18 | -2 = -2

3 BB 5 < 1 29 &% 38 =1 -12 &% 15 = 1 18 &% -2 = 1

2] 5=1 2 || 3 @=1 ;12 | 15 =1 18 || -2 =1

vari++ (2) evaluates to 2 varls+ (28) E?aluates to 28 varl++ (-12) ?valuates to -12 varls+ (18} E?aluates to 18
varl is now: 3 varl is now: 21 varl is now: -11 varl is now: 19

vari-- (3) evaluates to 3 varl-- (21} E?aluates to 21 varl-- (-11) ?valuates to -11 varl-- (1%} E?aluates to 19
varl is now: 2 varl is now: 28 varl is now: -12 varl is now: 18

++varz (5) evalustes to & ++varl (38) E?aluates to 31 ++var2 (15) E?aluates to 16 ++var2 (-2} E?aluates to -1
var? is now: & var is now: 31 var2 is now: 16 var2 is now: -1

—-warz (&) evalustes to 5 --varl (31) evaluates to 3@ --var2 (16) evaluates to 15 --var2 (-1} evaluates to -2
VEr? is now: S var2 is now: 3@ var2 is now: 15 var2 is now: -2

please enter 2 int values: o = please enter 2 int values: 45 18 please enter 2 int values: -5 -G please enter 2 int values: 11 182

9 +3 <12 45 + 18 = 55§ -5 + -5 = -18 11 + 188 = 111

9_3-6 45 - 18 = 35 -5 - -5=8 11 - 188 = -89

g =3 =37 45 * 18 = 458 -5 ® -6 = 25 11 * 188 = 1188

9/3=3 45 /18 = 4 5/ -5=1 11 / 188 = @

g% 3=g 45 X 18 = 5 -5 % -5 =28 11 % 182 = 11

G cc 3= T2 45 << 18 = 462888 -5 << -5 = -E7188EE48 11 << 188 = 176

g%y 3= 1 45 »» 18 = @ -5 »» -5 = -1 11 »» 188 = @

9 & 3=1 45 & 18 = B -5 & -5 = -5 11 & 188 = @

9]3=11 45 | 12 = 47 5| -5=-5 11 | 188 = 111

9 &% 3 =1 45 && 18 = 1 -5 &% -5 =1 11 &% 182 = 1

8]l 3=1 45 | 18 =1 Sl -5=1 11 || 180 = 1

variss (3) evaluates to 9 varls+ (45} E?aluates to 45 varl+ (-5} E?aluates to -5 varl+ (11} E?aluates to 11
varl is now: 1@ varl is now: 26 varl is now: -4 varl is now: 12

vari-- (18) evaluates to 1@ varl-- (48]} E?aluates to 46 varl-- (-4} E?aluates to -2 varl-- (12} E?aluates to 12
varl is now: 9 varl is now: 45 varl is now: -5 varl is now: 11

++varz (3) evalustes to 4 ++varl (18) E?aluates to 11 ++var2 (-5) E?EIUETES to -4 +Hvar2 (1ea) ?valuates to 181
var? is now: 4 var is now: 11 var2 is now: -4 var2 is now: 181

—-wvarz (3} evalustes to 3 --varl (11) evaluates to 1@ --varz (-4) evaluates to -5 --var2 (1e1) evaluates to lee

var2 is now: 18 var2 is now: -5 var2 is now: 188

vard is now: 3



int8_t

please enter 2 ints_t values: 5 please enter 2 int2_t values: 12 = please enter 2 ints t values: -3 3 please enter 2 ints_t wvalues: 125 @

L +9g - 14 18 + 3 = 21 -3 +3 =8 195 + § = -1232

5 -9 = -4 18 - 3 =15 -3-3=-86 125 - 9 = 116

5% g =45 18 * 3 = 54 -3 % 3= -3 125 * 9 = 181

5/ 9=8 18/ 3=6 -3/ 3= -1 125 / 9 = 13

%9 =5 1lB%3=28 -2X3=08 125 % 9 = &

5 << 9 =8 18 << 3 = -112 -3 €< 3 = -24 125 << 9 = @

53 9=8 18 »» 3 = 2 -3 2x 3= -1 125 3> 3 = @

5&9 =1 l8&3=2 3 E3=1 125 & 9 = 9

5| 9 =13 1z | 3 =13 -3 3=-1 125 | 9 = 125

5 &% 9 =1 18 && 3 = 1 -3 R 3 =1 125 && 9 = 1

5l9=1 18 |1 3=1 -3 01 3=1 125 || 3 =1

varl++ (5} evaluates to 5 varl++ (18) evaluates to 18 varl++ (-3} evaluates to -3 varl++ {135} evaluates to 125
varl is now: & varl 1s now: 19 varl is now: -2 varl is now: 126

varl-- (g) evaluates to & varl-- (19) evaluates fo 19 varl-- (-2) evaluates to -2 varl-- (126) evaluates to 126
varl is now: 5 varl 1s now: 12 varl 1s now: -3 varl is now: 125

s+yar2 (9) evaluates to 18 ++varl (3) evaluates to 4 ++var2 (3) evaluates to 4 s+yarz (9) evaluates to 18
var? is now: 18 vard 1s now: 4 vard is now: 4 var2 is now: 18

--varz (18} evaluates to 9 --varl (4) evaluates to 3 --vard (4) evaluates to 3 --var2 (18} evaluates to 9
var? is now: 9 var2 1s now: 3 vard 1s now: 3 var? is now: 9

please enter 2 ints_t values: -2 2o Please enter 2 int8_t values: 112 -4 please enter 2 int2_t values: 15 2 please enter 2 int® t values: -125 9

-3+ 74 = 21 112 + -4 = 188 19 + 2 = 21 -175 + 9 = -11&

-3 - 24 = _27 112 - -4 = 116 19 - 2 = 17 -125 - § = 122

-3 % 24 = -72 112 = -4 = B4 13 * 2 = 38 2125 * § = -181

3/ =8 112 / -4 = -28 12 /2=19 2135 /9 = -13

-3 % 74 = -3 112 % -4 =8 19 % 2 =1 -195 ¥ 9 = -8

3 << 34 =8 112 << -4 = @ 19 << 2 = 76 -125 << 9 = @

-3 3» 24 = -1 112 »» -4 = @ 19 »» 2 = 4 -125 3% 9 = -1

-3 & 24 = 24 112 & -4 = 112 19 & 2 = 2 175 & 9 = 1

-3 24 = -3 112 -4 = -3 19 2 =19 -125 g = -117

-3 %% 74 = 1 112 &% -4 = 1 19 &% 2 = 1 -175 &% 9 = 1

-3 24 = 1 112 -4 =1 19 2 =1 -175 g =1

varls+ (-3) evaluates to -3 varls++ (112} ?valuates to 112 varl++ (19} evaluates to 19 varls+ (-125) evaluates to -125
varli is now: -2 varl 1s now: 113 varl is now: 28 varl is now: -124

varl-- (-2) evaluates to -2 varl-- (113) @va]uates to 113 varl-- (28} evaluates to 28 varl-- (-124) evaluates to -124
varl is now: -2 varl is now: 112 varl is now: 19 varl is now: -125

s+yarz (24) evaluates to 25 ++varl (-4) evaluates to -3 #+var2 (2} evaluates to 3 s+varz (9) evaluates to 18
var2 is now: 25 VarZ 1s now: -3 vard is now: 3 var? is now: 18

--var2 (25} evaluates to 24 --varl (-3} evalustes to -4 --vard (3} evaluates to 2 --var? (18} evaluates to 9

Var? is now: 24 varl is now: -4 varl is now: 2 var? is now: ©



uint8 t

please enter 2 uinte_t walues: & 2

B+ 3 =19

B -3 =3

B * 3 13
&/ 3=2
EX3=28
B <« 3 = 48
B »» 3 =8
E&3=2

& | z2=7

B &R 3I=1
g1l 32=1
varl+s+ (&)} evaluates to &

varl is now: 7
varl-- (7} evaluates to 7
varl is now: &
++var2 (3} evaluates to £
var2 is now: £
--var2 (4} evaluates to 3
var2 is now: 3

please enter 2 uinte_t walues: 1& 25

16 + 25 = 41
16 - 25 = 247
16 * 25 = 144
16 / 25 = @
16 % 25 = 16

16 << 25 = @
16 »» 25 = @

16 & 25 = 16
16 | 25 = 25
16 &8 25 = 1
16 || 25 = 1

varl+s+ (16} ewvaluates to 16
varl is now: 17
varl-- (17} ewvaluates to 17
varl is now: 16
++var2 (25) evaluates to 26
var2 is now: 26
--var2 (26} evaluates to 25
var2 is now: 25

please enter 2 uinte_t walues: 248 25

248 + 25 = 9

248 - 25 = 215
248 * 25 = 112
248 / 258 = &
248 % 25 = 15
248 << 25 = @

248 »» 25 = @

242 & 25 = 16

24@ | 25 = 249

249 B 25 = 1

248 || 25 = 1

varl+s (248} evaluates to 248
varl 1s now: 241

varl-- (241} evaluates to 241
varl is now: 248

++var2 (25} evaluates to 26
var2 1s now: 26

--var2 (26} ewvaluates to 25
var2 1s now: 25

please enter 2 uinte&_t walues: 25 248

25 + 248 = 9
25 - 248 = 41
25 * 248 = 112
25 f 248 = @
25 % 248 = 25

25 €« 248 = @

25 »» 248 = @

25 & 248 = 16

25 | 248 = 249

25 &8 248 = 1

25 || 248 = 1

varl+s+ (25} evaluates to 25
varl 1s now: 26

varl-- (26} evaluates to 26
varl 1s now: 25

++var2 (248} evaluates to 241
var2 1s now: 241

--var2 (241} evaluates to 248
var2 1s now: 248

please enter 2 uints_t walues:

5+ 5 =18
E-5=8
E % 5 = 25
E/5=1
E%5 =8
E ¢¢ 5 = 168
E»» 5 =8
E&5 =5
| 5=5
&% 5 =1
5 =1

1

varl+s+ (5} evaluates to 5
varl is now: &

varl-- (&)} evaluates to &
varl is now: 5

++var2 (5} evaluates to &
var2 is now: &

--var2 (&) evaluates to 5
var2 is now: 5

please enter 2 uints_t walues: 95 2

95 + 2 = 97
95 - 2 = 93
95 * 2 = 198
95 / 2 = 47
95 % 2 =1
95 < 2 = 124
95 »» 2 = 23
95 & 2 =2
g5 | 2 = 95
95 && 2 = 1
g5 || 2 =1

varl+s+ (95} evaluates to 95
varl is now: 96
varl-- (9&)} evaluates to 96
varl is now: 95
++var2 (2} evaluates to 3
var2 is now: 3
--var2 (3} evaluates to 2
var2 is now: 2

g8 + 1 = Bl
&8 - 1 = 5%
68 * 1 = 68
68/ 1=c6R
BB % 1=8

68 ¢ 1 = 128
68 »» 1 = 38
BB & 1=8

g8 | 1 =61
68 &% 1 =1
g8 || 1=1

varl+s+ (g8} evaluates to &8
varl is now: &1

varl-- (g1} evaluates to &1
varl is now: &2

++yvar2 (1) evaluates to 2
var2 is now: 2

--var2 (2} evaluates to 1
var2 is now: 1

please enter 2 uints_t values:
44 + 2 = 48
44 - 2 = 42
44 % 3 = BB
48 J 2 =22
44 % 2 =8
44 ¢« 2 = 178
44 »» 2 = 11
44 5 2 = @
44 | 2 = 46
44 BR 2 = 1
44 |] 2 =1

varl+s (44} evaluates to 22
varl is now: 45
varl-- (45} evaluates to 45
varl is now: 44
++var2 (2} evaluates to 3
var2 is now: 3
--var2 (3} evaluates to 2
var2 is now: 2

please enter 2 uints_t values: ¢



